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1 point

a) >

b) <

c) >=

d) < =

e) both a and c

Please watch the online classes and answer the following �uestions

1 point

a) Only one follow

b) Only two follow

c) Neither follows

d) Both follow

e) Either follow

1)What should come in place of �uestion mark to make B> D always true?A = B > C ? D <E *

2)Statements: – A > N, K >= N, K > M, R > M Conclusions: – a) M = N b) R >= A *



1 point

a) Only one follow

b) Only two follow

c) Neither follows

d) Both follow

e) Either follow

1 point

a) >

b) =

c) >=

d) <=

e) both b and d

In these �uestion, relationship between di�erent elements is shown in the statements. �ese statements
are followed by two conclusions.Study the conclusions based on the given statements and select the
appropriate answer.

3)Statements: P = S, P < Q, R <= Q, R<= T Conclusions : a) Q > S b) Q = T *

4)What should come in place of �uestion mark in the expression A = B >C ? D< E = F so as to make
the expression F>C always true? *



1 point

Only I follows

Both I and II follows

Neither I nor II follows

Only II follows

1 point

Only I follows

Either I or II follows

Neither I nor II follows

Both I and II follows

1 point

Neither I nor II follows

Only II follows

Either I or II follows

Both I and II follows

5)Statements:G < H, I < G, H < J, J ≤ K . Conclusions:I.) H < K II.)H>I *

6)Statements:S < T, T < U, U = W, W < X. Conclusions:I.) S ≥ W II.) W ≥ T *

7)Statements:M = N ≥ O < P = Q ≤ R Conclusions:I.) N ≥ P II.) R > N *



1 point

If only I is true

If only II is true

If both are true

If both are false

1 point

If both are true

If either I or II is true

If both are false

If only I is true

0 points

If only I is true

If both are true

If only II is true

If either I or II is true

Option 5

8) Statements:L > I = N > P; I ≥ R > K; N ≤ E <Z Conclusion:I. E > PII. R < L *

9) Statements:S ≥ T ≤ A; E ≤ T; R > D = T Conclusion:I.) E ≤ A II.) R > S *

10)Statement:P ≥ O ≤ L < ES ≤ O ≥ A = K Conclusion:I. E < S II. K ≤ P *



1 point

A≥D≥C>E≥B...

B<C>F=S>A...

E<B=C≥F<A

A<C≤E=D<B

1 point

>

<

≥

≤

1 point

Only Conclusion I follows...

Only Conclusion II follows...

Either Conclusion I or Conclusion II follows...

Neither Conclusion I nor Conclusion II follows...

11) In which of the given expressions B>A is a de�nite true? *

12)Which of the following symbol will replace the �uestion mark in the given expression P > Q ; R
? S ;S >P;P >Tin order to make the expression R < T de�nitely fales? *

13)Statement: A < B ≥ C , A = E , D ≥ B , F ≤ G > C AC Conclusions:I: A > F II: D > C *



1 point

Only Conclusion I follows...

Only Conclusion II follows...

Either Conclusion I or Conclusion II follows...

Both Conclusion I and Conclusion II follow...

Neither Conclusion I nor Conclusion II follows...

1 point

(i) follows...

(ii) follows...

Either (i) or (ii) follows...

Both (ii) and (iii) follows...

Option 6

1 point

(i) follows...

(ii) follows...

Either (i) or (ii) follows...

Neither(i) nor (ii) follows...

Option 4

14)Statement: L > M = N , M ≤ P , R ≥ L , N ≥ Q L>M=N,M≤P,R≥L,N≥Q . Conclusions: I: M > Q II:
Q = N *

15) Statements: (i)A>R≥Q=FG=B Conclusions:(i) A>F (ii) A>C *

16)Statements: (i)F>DB≤G≤C Conclusions:(i) A≥C (ii) E<C *



1 point

Only Conclusion I follows...

Only Conclusion II follows...

Either Conclusion I or Conclusion II follows...

Both Conclusion I and Conclusion II follow...

Neither Conclusion I nor Conclusion II follows...

1 point

Only Conclusion I follows...

Only Conclusion II follows...

Either Conclusion I or Conclusion II follows...

Both Conclusion I and Conclusion II follow...

Neither Conclusion I nor Conclusion II follows...

1 point

Only Conclusion I follows...

Only Conclusion II follows...

Either Conclusion I or Conclusion II follows...

Both Conclusion I and Conclusion II follow...

Neither Conclusion I nor Conclusion II follows...

17) Statement: A > L = P ≤ B ; L < C ≤ K ; P ≥ Q = M .Conclusions: I: K > M II: B < C *

18)Statement: D < T = Y ; N > T ≥ X ; D ≥ A = B Conclusions: I: B < Y II: X < Y *

19) Statement: P < T > R ; S ≥ X = M ; X ≥ T ≤ N Conclusions: I: N < X II: M ≤ N *



1 point

Only Conclusion II follows...

Either Conclusion I or III follows...

Both Conclusion II and III follow...

Only Conclusion I follows...

All the Conclusions follow...

1 point

Only Conclusion III follows...

Only Conclusion I follows...

Only Conclusion I and Either Conclusion II or III follow...

Either Conclusion II or Conclusion III follows...

None of the Conclusions follow...

1 point

a) (i) follows...

b) (ii) follows...

c) Either (i) or (ii) follows...

d)Either (i) or (ii) follows...

e) Neither(i) nor (ii) follows...

20) Statement: W = Z < D > T ; B ≥ Y > M ; N ≤ Y = D ≥ X Conclusions: I: W > N II: Z < B III: T < X
*

21)Statement: A ≤ H = C < M ; L > T ≥ H ; B = A ≥ N ≤ K . Conclusions: I: L > K II: A < T III: B = T
*

22) Statements: (i)I≥M≥N>S≥P<Q=R Conclusions:(i) M≥P (ii) I>S *



1 point

a) Only Conclusion II follows...

b) Either Conclusion I or III follows...

c) Both Conclusion II and III follow...

d) Only Conclusion I follows...

All the Conclusions follow...

1 point

a) (i) follows...

b) (ii) follows...

c) Either (i) or (ii) follows...

d) Both (ii) and (iii) follows...

e) Neither(i) nor (ii) follows...

1 point

a) Only Conclusion I follows...

b) Only Conclusion II follows...

c) Either Conclusion I or Conclusion II follows...

d) Both Conclusion I and Conclusion II follow...

e) Neither Conclusion I nor Conclusion II follows...
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23)Statement: W = Z < D > T ; B ≥ Y > M ; N ≤ Y = D ≥ X . Conclusions: I: W > N II: Z < B III: T < X
*

24)Statements: (i)A>R≥Q=FG=B Conclusions:(i) A>F (ii) A>C *

25)Statement: A > L = P ≤ B ; L < C ≤ K ; P ≥ Q = M . Conclusions: I: K > M II: B < C *
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